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. How
2 mml:h does the followine
amounts in ¥ and paise o8

a) T6.45
b) 287.30
c) T45.10

d) £13.22

e) T10.10

dresa :
Present? Write the Fo\\awing

Adding rupees and paise

et ES say Priya has % 15.65 and Shruti has % 10.30. How can we find
out how much money did they have in all? By adding,

Let us see how.

First, write the rupee value in the ¥ column

and the paise value in the P column.

We must always first add the paise values,

that is: 65 + 30 =95

3 P

15 65
(=410 30
20895

Then add the rupee values, that 1s,

1SeE 0= 25

So. both of them together have 2 25.95.

Maths Tip

Never add paise and rupee with each other.



